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SARDAR PATEL UNIVERSITY
SY BCom (External) EXAMINATION
Thursday, 6 March 2014
2.30 - 5.30 pm

BS 201 Business Statistics
Total Marks : 100

Note: (i) Figure to the right indicate marks.
{ii) Use of simple calculators is allowed.
(iii) Statistical tables will be provided on request.

Q1(a} State the type of data that you have studied. Also state their sources 10
(b} Following data show the number of accidents. Prepare a frequency distribution. 10
24.,8,1,0,53,425,4,33,2132,3,6,4,3 2,2

3,4,6,52,3,2,514,354,3,0,3,2,01 1,223
3,3,3,34 4556 6 7 7 7and 8
! Tt ! ) 1 ! ] t I
OR
(a) Find the median for the following data; 10
X: 160 150 152 161 156
Y: 5 8 6 3 7
{b) State the measures of dispersion. Which measure, according to you ,is better? 10
Why?
Q2(@) GivenP(A)})=0.33,P{B)=0.75and P(AN B)=0.166, Find ((i) PIAUB) 10
(ii) P{A” U B') and {iii) P(A"/B')
{b) With usual notations prove that P{ A U B) = P(A) + P(B) 10
OR

(a}  Give three definitions of probability. What is the probability to get 53 Sundays in 10

the year 2020.
(b} For a Poisson variable P{1}= P(2), Find the value of P(0) 10
Q 3{a) Define correlation. Give its types and interpret r=0.45, r=+land r=0 10

{(b) Thetwo regressionlinesarex+2y—5=0and 2x+ 2y—8=0, Find means of x and 10
y. Also compute correlation coefficient between them.

OR
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(b)

Find co-efficient of rank correlation:
X: 28 27 26 35 39 42 39 37 32 22
Y: 40 42 38 49 40 50 38 44 45 36

Give properties of binomiai and normal distributions of probability..

Draw mean and range charts for the following data:

Mean:12.8 131 135 12.9 132 141 121 155 139 142

Range: 21 31 39 21 19 30 25 28 25 2.0
[Given:n=5,A2=0.577,D3=0and D4 =2.115]

Explain the principles of Statistical Quality Control. Also give control limits for p and
np charts.

OR
Fifteen samples each of size twenty are inspected and the numbers of defectives
are given below: Draw ‘c’ chart and give your findings about the state of control.
6 7 15 10 26 15 12 10 5 6 19 25 20 2 and 8

Distinguish between charts for variables and charts for attributes

Define index number. Why index numbers are called the barometer of the economy
cf a nation?

Convert the following fixed based index numbers in to chain base index numbers.
Year: 1950 1991 1992 1993 1994 1995
FBIN: 376 392 408 380 392 400

OR

Construct Fisher’s index number and verify it for TRT

Commodity : A B C D
Base Year's price : 20 50 40 20
Base Year's Qty. : 8 10 15 20
Current Year's Price : 40 60 50 20
Current Year's Qty. 6 5 15 25

In normal distribution31% observations are less than 45 and 8% are more than
64.Find mean and standard deviation of the distribution.
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el cliyell AisSI ¥ d U2dell 2Rl €211 B.

. el Zasyderell GuAldl s3] sigl.

. RR2sd 2oid HrigiEll Hofl s,
ad AeARe sAl &l ddl HlRdlell usiRl wendl Aol 20dl wendl. (20)
ollAell MR 2is2341doll 2Ava1 €211Q 8. d u=ell 2419(Q Qe dAR 5. (10)
2,4,8,1,0,5,3,4,2,5,4,3,3,2,
3,2,3,6,4,3,2,2,3,46,52,3,2,5 1,4
3,5,4,3,03,2,0,1,1,2,2,3,3,3,3,3,4
4,55,6,6,7,7,7 2 8

2149
oflAof] iRl el 3e@ M. (q0)
x: 160 150 152 161 156
y: 2 B 6 3 7
URARAIotoll HIUl €1id]. aMIRl Hd $Y AU YR AI3 B 7 A HI2 ? (20)
% P(A)=0.33, P(B)=0.75 »ia P (A~B) = 0.166 8l dl (i) P (AUB), (10)
(i) P (A'UB') 244 (iii) P (AY/B') 206l
UA(Ad 23l arudl A1lCid 520 3 ¢ (20)
P (AUB) = P(A) + P(B)
LT

2ieiidatiod] 21 ArvRAl 2AM). 9N 020341 U3 AA4R 3G dedl 2leige Ml (10)
i Sl UlAAot Ad HI2 P(1)=P(2) &la dl P(0) e, (20)
AsAGILoll Al Al dotl USRI welid] 1=0.45, 1= +1 a1 = 0 of eleiza sA.  (10)
A A [eRidRAcig AHISEN 2AeisA X+2y-5=0 el 2x+2y-8=0 &1 dl x Vidl yoll (10)
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sHis AsAGIEIs M),

X: 28 27 26 35 39 42 39 37 33 22
y: 40 42 38 49 40 50 38 44 45 36
[#u€] 240 Wiy RdeNe il sendl.

of1Aofl H1Rd] uefl Heaus Bia [Q2dRell 41AV] €12,

x 128 131 135 129 132 141 121 155 139 142
R 21 31 39 21 19 3 25 28 285 2
[n=5, A2=0.577, D3=0 2ial D4=2.115 2A1idl 8]

speigTl [l (issigl el Rigidl 24l 'p' 2ial 'np' 211Qvilell BRIzl
A1A) 2414l
21gq

ol ez aieall €38 200ll A188301l duill #Ad virfledl 2ivaal A10d 8. d el
'c’ 2A1Av €3 d¥HIRl dRel wendl.

6, 7 15, 10 28. 15, 12:. 10; 5. 6. 19,25, 20, 2 2id 8

AG ial 2RI Hizoll AIAV] 4Aell agidd YNl

SIS A2 g 7 2 HIR YUS AiSla Siguel eidoofl il sgai 219 & 2
ol ANl AAA WG RN JASHISA UUd 21 1€1R¥i Fdl.

gy 1990 1991 1992 1993 1994 1995
Jusis @ 376 392 408 380 392 400
AHYY|

oflAofl 1R uell 2120l Aus s Mell sid AUAA ye Hi2 USRI

agl : A B €© D
A adefl Buda @ 20 50 40 20
AR addl ¥l : 8 10 15 20
ugadoll Bua  : 40 60 50 20
Alg gvofl ¥l : 6 5 15 25
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